" Assighment

Subject: Science

e Tick the correct option:
1. The bread or idli dough rise because of
(a) Heat (b) grinding (c) growth of yeast cells.
2. Pathogenic microorganisms present in host cells are killed by
(a) Antibiotics (b) antibodies (c) vaccines
3. Horticulture deals with growing of
(a) Vegetables (b) fruits (c) both of these
4. Meat yielding poultry is called
(a) Dairying (b). Incubator (c). Broiler
5. Who discovered the early form of penicillin?
(a) Alexander fleming (b) Antoine Van (c) Thomas Edison
6. The quality of sound depends upon
(a) Source of sound (b) length of source (c) thickness of source
7. Loudness is determined by the of sound waves.
(a) Amplitude (b) frequency (c) pitch
8. Dogs can hear sound at frequencies
(a) Less than 20Hz (b) higher than 20,000Hz (c) below 20,000Hz

Assertion Reason Based Questions:-

Each question consists of two statements, namely, Assertion (A) and Reason
(R).For selecting the

correct answer, use the following code:

(a) Both Assertion (A) and Reason (R) are the true and Reason (R) is a correct
explanation of

Assertion (A).

(b) Both Assertion (A) and Reason (R) are the true but Reason (R) is not a
correct explanation of

Assertion (A).

(c) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true

1. Assertion: Milk is turned into curd by bacteria.

Reason: Curd contains several microorganisms, of there, the bacterium,
lactobacillus permotes the formation of curd.



2. Assertion: Farmers have to add Maurer to the fields to replenish the
soil with nutrients.

Reason: Continuous cultivation of crops makes the soil rich in nutrients.

3. Assertion: If the frequency of vibration is higher we say that the sound
is shrill and has a higher pitch.

Reason: The frequency determines the shrillness or pitch of the sound.

Case study:

Raghav kept a mini sound player in each of two similar containers. He then
tightly covered both the containers with stretched plastic sheets. He placed some
tiny rubber beads on the surface of the sheets. The picture shows what Raghav
noticed when he turned on the sound player.

rubber beads

Plastic rubber i i
sheet beads . A .]l{mpmg
—— ../.. .:o...:.:.oo. 0.
I SYEEET o gty -
N = \___/
Sound player Sound player
turned off turned on

Q:1.Which of these questions can be answered using the result of Raghav’s
activity and give reason also.

(a) Does sound travel as waves?

(b) Does sound produce vibration?

(c) Does sound travel through a vacuum?

(d) Does sound travel faster in solids than in glasses?

Q:2. Would the result of Raghav’s activity change if fewer beads had been
used? Explain your answer.
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Subject: Punjabi
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Subject : Social studies

Tick the correct option:

1. Which of these ideas in the constitution provides for Universal adult
suffrage

a) socialism. b) secularism. c) democratic 2. The architect of our
constitution was a)Mahatma Gandhi b)B.R. Ambedkar c)Sarojini Naidu

3. The word secular and socialist were added to the Preamble in

a). 1950 b) 1976. c) 1986

4. For the given question number 4(a) and 4(b) two statements are given
one labelled Assertion (A) and other label Reason (R) . Select the correct
answer to these questions from the codes (i) ,(ii) ,(iii)and (iv) as given below

(i) Both (A)and (R) are true and R is correct explanation of the assertion .

(ii) Both (A) and (B) are true but R is not the correct explanation of the
assertion

(iii) A is true but R is False
(iv) A is false but R is true .
(a) Assertion:- India is a Republic
Reason :- India has an elected head
1. (i). 2.(ii). 3. (iii)). 4. (iv)
(b) Assertion:- India is a federal country Reason :- The India constitution

guarantees is several fundamental right to its citizens.
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(. 2. (). 3. (ii). 4.(iv)

. Fill in the blanks:-

The constituent.............. was set up to make the constitution for India.
The........... is the guardian of fundamental rights.

India does not have an ........... religion of the state

India constitution is Federal in form but ............ in Spirit .

. Answer the following in about 20-25 words:

= W h W N =2 N =

. What is a preamble?

ooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

ooooooooooooooooooooooooooooooooooooo

4. Case study: -

According to the constitution ,there are three organs of government . There
are the legislature ,the executive and the Judiciary . The legislature refer
to our elected representatives. The executive as a smaller group of people
who are responsible for implementing laws and running the government.
The Judiciary refers to the system of courts in this country. In order to
prevent the misuse of power by any one branch of government, the
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Constitution say that each of these organ should exercise different powers.
Through this, each organ acts as a check on the other organs of Government
and this ensure the balance of power between all the three.

1. What is constitution ?
2. Both Lok Sabha and Rajya Sabha are referred as..............
a) legislature. b) Executive c¢) Judiciary d) Government

3. The Deputy Commissioner of a district is part
(o) (Executive/ Legislature )

4. India follows a system of balance of power .justify by given relevant
points.

Subject : Hindi

frafaf@a sgmr # eaeqEs Tea $HF YR W FA0F 39gFd 3o
fwer gaat fafaw)
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AT 3R anfAs faRaesiiaid fewra 39 Rl @ fAea o @ &1 faee & garfa
JUT HOR & AUAT H JEfT & HROT oiF AT gRAT FA g1 15 §1 38 FROT
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(ii) ETISTRhdr &
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(iv) 3ugeraT qalr
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(iii) @dt &
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(i) 39% Thod THTST & Hhed 8l ol
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6.31f + 3TaegH FT 9T HMI..........
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Subject: Mathematics

Tick the correct option

1. What should be added to -5/4 to get -1?

(I)-1/4 (I1) 1/4 (II) 1 (IV) -3/4

2. What should be subtracted from -5/4 to get -1?

(D -1/4 (1) 1/4 (111) 1 (1IV) -3/4

3. Which of the following is the identity element?

(I) 1 (II) -1 (III) O (IV) None of these

4. Which of the following is the Multiplicative identity for rational numbers?
(I) 1 (II) -1 (III) O (IV) None of these

5. Which of the following is neither appositive nor a negative rational number?
(I) 1 (II) O (IIT) Such a rational number does not exist

(IV) None of these

6.Write 2/3,-4/9, -8/11 in ascending order.

7.Write 2/3,-4/9, -8/11 in descending order.

8.Fill in the blanks:

(i) The product of a number and its product is

(ii) The rational number has no reciprocal.

(iii The reciprocal of the reciprocal of a number is

(iv) The rational number is neither positive nor negative.

(v) is the only rational number which is equals its additive inverse.
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9. Write additive inverse of the following:

(a)-7/19 (b) 21/112

10.Verify that - (-x) = x for

(a) x=11/15 (b) x=-13/17

Assertion and Reason Questions

1.) Assertion (A) - Rational numbers are not closed under addition

Reason (R) - A rational number is a number that is in the form of p/q, where p and q
are integers, and q is not equal to 0.

a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A

c) Ais true but Ris false

d) Ais false but R is true

2.) Assertion (A) -Natural numbers are closed under addition

Reason (R) - A rational number is a number that is in the form of p/q, where p and q
are integers, and q is not equal to 0.

a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A
c) Ais true but Ris false

d)A is false but R is true

Case Study Questions on Rational Number

Passage 1: Aditya who is working in a multinational company earns ¥150000 per
month. Out of his earnings he spend 1/10th on food items, 1/4th on shopping with
family, 1/5th of remaining on education of his two kids and rest of his money he puts
in his savings.

On basis of this information given in passage answer the following questions.

Q. 1. How much money he spends on food items?
(a) 15000

(b) 1500

(c) 1050

(d) 10500

Q. 2. How much money he spend on shopping?
(a) 32000
(b) 37500
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(c) 25000
(d) 27500

Q. 3. How much money was left with him after spending on food and shopping?
(a) 90000
(b) 95000
(c) 98500
(d) 97500

Q. 4. Calculate the amount spend by Aditya on education of children?

Q. 5. How much money he saved?

Subject : English

Read the passage carefully and answer the following questions:

One day the old emperor Shahjahan became ill. His son Aurangzeb, who always wanted
to be the emperor, put his father in a jail. Jahanara Begum, the eldest child of
Shahjahan, did not leave her father and went to jail along with him. She said, “ I shall
share the suffering of my father. He needs me in his old age, and I shall never leave
him.” Shahjahan lived in the jail for seven years and then he died. During that period,
Princess Jahanara stayed with him and took care of him. After the death of her father,
she returned to her own palace. She continued to live there and spent the rest of her life
serving the needy and the poor. Before her death, she gave away all her money to the
poor and the needy. She was highly educated and well-versed in Persian and Arabic, as
well as a writer, painter and poet. Jahanara was Shahjahan’s preferred child. Legend
says that once when Aurangzeb was severely sick, Jahanara took care of him. Jahanara
died on September 5, 1681, at the age of 67. Upon her death, Aurangzeb gave her the
posthumous title: Sahibat-uz-Zamani (mistress of age).

On the basis of your reading of the passage, answer the questions:

Q 1) What was Aurangzeb’s aim in life?

Q 2) Who was the eldest child of Shahjahan?

Q 3) Pick out and write the line from the passage which shows that Jahanara Begum
was a caring daughter.

Q 4) What did Aurangzeb do when his father became ill?
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Q 5) Jahanara was a kind lady. Explain.

2.Read the passage carefully.

For the mobility—impaired, highly trained canines called ‘service dogs’ can pick up
dropped keys, open and close drawers, retrieve prepared meals, help a person in and
out of bathtub, dial 911, push and pull wheelchairs, help operate aWhile most service-
dogs are trained to work with people who rely on wheelchairs, other categories of
helping dogs include hearing-dogs who alert their owners to sounds, such as doorbells,
phones, cooking timers, alarm clocks, smoke alarms and seizure dogs which carry
medication in their packs and are trained to dial 911 on large keypad phones. While
most service-dogs are trained to work with people who rely on wheelchairs, other
categories of helping dogs include hearing-dogs who alert their owners to sounds, such
as doorbells, phones, cooking timers, alarm clocks, smoke alarms and seizure dogs
which carry medication in their packs and are trained to dial 911 on large keypad
phones.

Answer the following questions by selecting the most appropriate

option:

Q1: The service-dogs were:(a)Paid highly (b) less in number (c) multiple taskers (d)
employees

Q2: The idea of assistance dogs became popular due to the:

a)Independent movement among the disabled

b)Awareness by the hospitals

c)Independence of the country

d)Both (a) and (c)

Q3: The categories of helping-dogs are:

a)Domestic dogs, service dogs & seizure dogs

b)Service, hearing and seizure dogs

c)Hunting and domestic dogs

dNone of the above

Q4: There is a difference between:

a)The service dogs and the helping dogs

b)The serving dogs and canines

c)The canines and ordinary dogs

d)Both (b) and (c) .

Q5: Give the noun form of ‘trained”:

a)Train (b) trains (c) training (d) trainee car or van

Choose the right option:
1. Neither she nor I at home.
a. were b. was c. has been d.be
2. My friends and I there.

a.meet b.meets c.meeting d.have meet
3.Choose the correct sentence:-
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A.Sam have gone to buy some groceries.

B.Sam had going to buy some groceries.

C.Sam be going to buy some groceries.

D.Sam is going to buy some groceries.
4.The stars bright at night.
a.Shines b.Shine c.Has shine d.Shining
5.Chris to attend the programme.
a.Did not wanted b.Did not want c.Do not wanted d.Does not wanted
6.Meera for the charitable cause.
a.Came to contribute b.Come to contributed c. to contributed d.Comes to contributed
7.Fill in the blanks with past continuous tense form of the verb given in the bracket.
"Monika____  since last week.”(Plan)a.Did plan b.Has been planning c.Had been
planning 8.Joey from the vacation just now.
a.Has returned b.Had returned c.Had been returning d.Returns
9. The crowd that due to the quarrel has dispersed now.
a.have gathered b.has been gathered c.had gathered d.has been gathering
10. Identify the tense used in the sentence.”Nick has purchased a new laptop.”
a.Present perfect tense b.Past indefinite tense c.Past perfect tense d.Present indefinite
tense
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